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Av = A(αu(1) + βu(2)) = αλ1u(1) + βλ2u(2)
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Aw = UΣVTw
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∇f(x) = Ax + u
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∇f(x) = Ax + u

∇f(x) = 0 = Ax + u = 0
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∇f(x) = Ax + u

∇f(x) = 0 = Ax + u = 0

Ax + u = 0

x* = − A−1u
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∇f(x) = Ax + u

∇f(x) = 0 = Ax + u = 0

Ax + u = 0

x* = − A−1u

Note how so far we did not use the expression of A!
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Trace>0, matrix is symmetric, hence it is positive definite if the determinant is positive
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x̄2 + x̄2 − 2x̄2 = x̄2 − x̄2 ≥ 0


